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BACHELOR'S DEGREE PROGRAMME (BDP) 
Term-End Examination 

June, 2015 

ELECTIVE COURSE : ECONOMICS 

BECE-214 : AGRICULTURAL DEVELOPMENT IN 
INDIA 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer the questions from each section as directed. 

SECTION A 

Answer any two questions from this section in about 

500 words each. 	 2x20=40 

1. What do you mean by Green Revolution ? 
Examine its effect on agricultural production in 
India. 

2. Have the land reforms succeeded in India ? 
What measures would you suggest to make them 
effective ? 
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3. State the objectives behind Public Distribution 

System (PDS). Evaluate the performance of the 

PDS in terms of its stated objectives. 

4. What are the main problems of agricultural 

marketing in India ? Examine the steps taken by 

the Government to make the marketing system 
more efficient. 
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SECTION B 

Answer any four questions from this section in about 

300 words each. 	 4x12=48 

5. Discuss the important factors affecting the 

cropping pattern. 

6. Briefly describe the different modes of irrigation. 
Why is the issue of pricing of irrigation water 

important ? 

. What was the impact of commercialisation of 

agriculture in British India ? 

8. Why is agricultural diversification important ? 
Do you agree that agricultural diversification 

has taken place in India ? 

9. Evaluate the performance of agricultural 
co-operatives in India. 

10. What are the basic objectives of NREGA — 2005 ? 
In what way does the NREGA (now MNREGA) 
ensure that the interests of labourers are 
protected in terms of work allotment and 

payment ? 
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SECTION C 

11. Distinguish between any two of the 
following : 	 2x6=12 

(a) Marketed surplus and Marketable surplus 

(b) Ownership holdings and Operational 
holdings 

(c) Labour productivity and Total factor 
productivity 

(d) Absolute poverty and Relative poverty 
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